

RAVIMA DEVELOPERS

CTS No. 5764, MIDC Rd, beside Supreme Restaurant, Finolex Chowk, Pimpri Colony, Pune, Maharashtra 411018 27AASFR5116L1ZN Maharashtra

191

Page 1 of 4

MORWADI CHOWK ,PIMPRI,PUNE

Work Order

Work Order No.

GSTIN no.:

TO, WO Date: 02/08/2021

ROHAN ELECTRO ART Kind Attn.:

PUSHPA EMERALD OFFICE A3, NEAR WONDER CITY,
KATRAJ, PUNE-411046 . PH. No-, Contact Person-, Contact

No - 9881674499 PAN No:

Sr.No.	Item Description	Quantity	Unit	Rate Rs.	Amount
	HT CABLE & TERMINATION SUPPLY				
	11/22KV 3CORE A. CABLE HT P-TA				
1	11/22 KV 3 core 95 sqm HT PANELTO	20.00	Mtrs	120.00	2400.00
	TRANSFORMER-1				
	HT CABLE & TERMINATION HT PANEL				
2	TO TRANSFORMER-1	2.00		2200.00	4400.00
2	11/22 KV 3 core 95 sqm HT PANEL TO TRANSFORMER-1	2.00	Set	2200.00	4400.00
	i				
	SUBSTATION HT & LT EQUIPMENTS 1.1 KV GRADE RUBBER MATTING 1M				
3	1.1 kV grade Rubber matting 1 mtr x 2 mtr	45.00	Mtrs	50.00	2250.00
		15.00	14113	30.00	2230.00
	EARTHING 50X 6 GI Flat conductor DG				
4	CHANGE OVER P 50X 6 GI Flat conductor DG CHANGE OVER	125.28	Kgs	55.00	6890.40
	PANEL-1	123.26	Rgs	33.00	0890.40
	EARTHING 25X3 GI Flat conductor METER				
	ROOM		+		
5	25X3 GI Flat conductor METER ROOM	198.24	Kgs	40.00	7929.60
	EARTHING 25X3 GI Flat conductor LIFTS 1		1		
6	25X3 GI Flat conductor LIFTS 1	179.52	Kgs	40.00	7180.80
- 0	1	177.52	Kgs	40.00	7100.00
	EARTHING 25X3 GI Flat conductor LIFTS 2				
7	25X3 GI Flat conductor LIFTS 2	420.48	Kgs	40.00	16819.20
	EARTHING 25X3 GI Flat conductor FIRE				
	LIFTS 3				
8	25X3 GI Flat conductor FIRE LIFTS 3	349.44	Kgs	40.00	13977.60
	EARTHING 25X3 GI Flat conductor PUMP				
	ROOM AND STP				
9	25X3 GI Flat conductor PUMP ROOM AND	190.56	Kgs	40.00	7622.40
	STP				
	EARTHING 25X3 GI Flat conductor LA				
10	25X3 GI Flat conductor LA	230.40	Kgs	55.00	12672.00
	EARTHING 25 x 3 mm copper strip				
	TRANSFORMER 1				
11	25 x 3 mm copper strip TRANSFORMER 1	2.00	Nos	4700.00	9400.00

EARTHING 25 x 3 mm copper strip DG SET	1			
12 25 x 3 mm copper strip DG SET 1	2.00	Nos	4700.00	9400.00
EARTHING 25 x 3 mm copper strip DG SET	2			
13 25 x 3 mm copper strip DG SET 2	2.00	Nos	4700.00	9400.00
CABLES AND END-TERMINATION 300				
Sqmm 3.5 C AL 14 300 Sqmm 3.5 C AL	129.90	Mtrs	116.00	15068.40
1	129.90	Murs	116.00	15008.40
CABLES AND END-TERMINATION 240 Sqmm 3.5 C AL		+		
15 240 Sqmm 3.5 C AL	105.00	Mtrs	116.00	12180.00
CABLES AND END-TERMINATION 185				
Sqmm 3.5 C AL				
16 185 Sqmm 3.5 C AL	30.00	Mtrs	99.00	2970.00
CABLES AND END-TERMINATION 150 Sqmm 3.5 C AL				
17 150 Sqmm 3.5 C AL	55.00	Mtrs	99.00	5445.00
CABLES AND END-TERMINATION 120				
Sqmm 3.5 C AL				
18 120 Sqmm 3.5 C AL	50.00	Mtrs	83.00	4150.00
CABLES AND END-TERMINATION 50		1		
Sqmm 3.5 C AL 19 50 Sqmm 3.5 C AL	30.00	Mtrs	50.00	1500.00
CABLES AND END-TERMINATION 25		1		
Sqmm 3.5 C AL				
20 25 Sqmm 3.5 C AL	174.60	Mtrs	42.00	7333.20
CABLES AND END-TERMINATION 10				
Sqmm 4 C AL 21 10 Sqmm 4 C AL	4,542.70	Mtrs	40.00	181708.00
CABLES AND END-TERMINATION 10	7,572.70	Witis	40.00	101700.00
SQMM 3 C AL				
22 10 SQMM 3 C AL	1,646.04	Mtrs	40.00	65841.60
CABLES AND END-TERMINATION 4				
Sqmm 4 C CU 23 4 Sqmm 4 C CU	113.70	Mtrs	35.00	3979.50
<u> </u>	113.70	IVIUS	35.00	3979.30
CABLES AND END-TERMINATION 2.5 Sqmm 4 C CU				
24 2.5 Sqmm 4 C CU	274.10	Mtrs	35.00	9593.50
CABLES AND END-TERMINATION 300				
Sqmm 3.5 C AL.	(00	NI	1100.00	((00.00
25 300 Sqmm 3.5 C AL.	6.00	Nos	1100.00	6600.00
CABLES AND END-TERMINATION 240 Sqmm 3.5 C AL.				
26 240 Sqmm 3.5 C AL.	10.00	Nos	1100.00	11000.00
CABLES AND END-TERMINATION 185		1		
Sqmm 3.5 C AL.	2 22	1,,	272.27	4=++
27 185 Sqmm 3.5 C AL.	2.00	Nos	850.00	1700.00
CABLES AND END-TERMINATION 150 Sqmm 3.5 C AL.				
28 150 Sqmm 3.5 C AL.	6.00	Nos	850.00	5100.00
CABLES AND END-TERMINATION 120		1		
Sqmm 3.5 C AL.		1		
29 120 Sqmm 3.5 C AL.	6.00	Nos	750.00	4500.00
CABLES AND END-TERMINATION 50				
Sqmm 3.5 C AL. 30 Sqmm 3.5 C AL.	4.00	Nos	260.00	1040.00
- Josephin Die Chief		1 - 100		10.00
				Page 2 of 4

	CABLES AND END-TERMINATION 25				
	Sqmm 3.5 C AL.				
31	25 Sqmm 3.5 C AL.	6.00	Nos	160.00	960.00
	CABLES AND END-TERMINATION 10				
	Sqmm 4 C AL.				
32	10 Sqmm 4 C AL.	260.00	Nos	60.00	15600.00
	CABLES AND END-TERMINATION 10				
	SQMM 3 C AL.				
33	10 SQMM 3 C AL.	114.40	Nos	60.00	6864.00
	CABLES AND END-TERMINATION 4				
	Sqmm 4 C CU.				
34	4 Sqmm 4 C CU.	4.00	Nos	50.00	200.00
	CABLES AND END-TERMINATION 2.5				
	Sqmm 4 C CU.				
35	2.5 Sqmm 4 C CU.	22.00	Nos	50.00	1100.00
	CABLE TRAYS & RACEWAYS 50 X 50 GI				
	TRAY ON FABRICATED SUPPORT				
36	50 X 50 GI TRAY ON FABRICATED	589.00	Mtrs	100.00	58900.00
	SUPPORTS				
	CABLE TRAYS & RACEWAYS 150 X 50 GI				
	TRAY ON FABRICATED SUPPOR				
37	150 X 50 GI TRAY ON FABRICATED	86.00	Mtrs	150.00	12900.00
	SUPPORTS				
	CABLE TRAYS & RACEWAYS 250 X 50 GI				
	TRAY ON FABRICATED SUPPOR				
38	250 X 50 GI TRAY ON FABRICATED	407.00	Mtrs	150.00	61050.00
	SUPPORTS				
	CABLE TRAYS & RACEWAYS 450 X 50 GI				
20	TRAY ON FABRICATED SUPPOR	224.00		100.00	(41.50.00
39	450 X 50 GI TRAY ON FABRICATED SUPPORTS	324.00	Mtrs	198.00	64152.00
		-	+		
	CABLE TRAYS & RACEWAYS 1000 X 50 GI				
40	TRAY ON FABRICATED SUPPO 1000 X 50 GI TRAY ON FABRICATED	89.00	Mtrs	380.00	33820.00
40	SUPPORTS	09.00	IVIUS	300.00	33820.00

705597.20	Contract Amount (A)
0.00	Total GST (B)
705597.20	Total (A + B)

RUPEES SEVEN LAC FIVE THOUSAND FIVE HUNDRED NINETY-SEVEN ONLY.

GENERAL TERMS & CONDITIONS:-

- 1 All material should be get approved from Project In Charge before application.
- 2 Measurement of actual work done shall be taken time to time jointly by company's engg. & contractor & shall be record the samein measurement sheet. Whatever be the difference in qty. of work order & actual work done shall be paid / recover after successful completion of entire work of bldg.
- 3 You will keep your Engineer at site & joint measurement will be recorded in measurement book.
- 4 You will clean the site after completion of work . If not cleaning charges will be debited to you.
- 5 Follow all the safety precautions at site & government regulation like labour insurance, minimum wages, child labour & any type of accident in your scope.
- 6 You will maintain all the required tools & tackles with proper mechanical staff.
- 7 Employer will provide water & electricity at site.
- 8 The employer will not be responsible for any power cut at site.
- 9 You will maintain a progress bar chart & present an activity schedule to the employer before starting the work.
- 10 You will submit a proper gurantee card for the work carried out.
- 11 All the work will be carried out as per the direction of structural consultant. Any rework will be carried out at your cost.
- 12 You will submit running bills by fortnightly.
- 13 You will maintain house keeping during the work.
- 14 Contractor will remain responsible for any accidents during executions and transeports and travelling
- 15 All work shall be carried out upto the full satisfaction of Project In charge.

PAYMENT TERMS & CONDITIONS :-						
1 2 3	Bill will be accepted for or Deduction for Retention Deduction for TDS & oth	completed work only as per mo Amount as applicable ner taxes as applicable.	entioned in payment schedu	ıle.		
		••				
Accep	ted By Agency	Project Incharge	Chief Engineer	HOD-CBD	Director	